
May 3, 2024 3:16:41 AM CDT                              - 1 -                              



May 3, 2024 3:16:41 AM CDT                              - 2 -                              



May 3, 2024 3:16:41 AM CDT                              - 3 -                              



May 3, 2024 3:16:41 AM CDT                              - 4 -                              



May 3, 2024 3:16:41 AM CDT                              - 5 -                              



May 3, 2024 3:16:41 AM CDT                              - 6 -                              

Click Here to View Item Online

McElroy Manufacturing Parts List
Part Number:  1264901  DynaMc Automatic 110-120V, 50/60Hz, 1Ph HPU Assembly

Part Number 1264901 Component List

Item Component Description Quantity Unit Price

1 1252801 DynaMc HPU Hydraulic / Plumbing Schematic 1.0 EA 0.00

2 1257901 DynaMc Power Pack Assembly 1.0 EA 0.00

3 1265001 Dynamc Hpu Skid Wld 1.0 EA 0.00

4 1265101 Dynamc Hpu Cover Wld 1.0 EA 0.00

5 1265201 Dynamc Hpu Lid Wld 1.0 EA 0.00

6 1265401 Dynamc Hpu Draw Latch Spacer 4.0 EA 0.00

7 1265601 Dynamc Hpu Lid Pivot Foot 2.0 EA 0.00

8 1266301 Dynamc Hyd Manifold Cable Assy (Effective to
10/28/15)

1.0 EA 0.00

8 1266302 Dynamc Hyd Manifold Cable Assy 1.0 EA 0.00

9 1267301 DynaMc Automatic 110-120V Power Box
Assembly (Effective to 10/28/15)

1.0 EA 0.00

9 1267302 DynaMc Automatic 110-120V Power Box
Assembly

1.0 EA 0.00

10 MJJ00035 Flush Mount Handle 1.0 EA 0.00

11 MJP00040 Leftside Constant Torque Hinge 1.0 EA 0.00

12 MJP00041 Rghtside Constant Torque Hinge 1.0 EA 0.00

13 MJP00042 Hinge 2.0 EA 26.00

14 MJQ00449 Magnetic Catch 3.0 EA 0.00

15 MJQ00450 Overcenter Latch 4.0 EA 51.08

16 MBA00005 1/4-20NC Fnsh Hex Nut Stl PL 9.0 EA 0.32

17 MBE00005 1/4 Reg Splt Lck Washer Stl PL 17.0 EA 0.10

18 MAH00044 1/4-20NCX1-1/4LG Shcs SS (Effective to
6/14/10)

4.0 EA 0.58

19 MAN00025 #8-32NCX3/8LG Shcs SS 4.0 EA 1.94

20 MAN00050 #8-32NCX1LG Shcs SS 4.0 EA 0.39

21 MBE00003 #8 Reg Splt Lck Washer Stl PL 8.0 EA 0.05

22 MBC00003 #8-32NC Mach Scr Nyl Lck Nut 4.0 EA 0.38

23 MBA00063 M6X1 Fnsh Hex Nut Stl PL 8.0 EA 0.00

24 MAN00027 #4-40NCX5/8LG Fhscs SS 24.0 EA 0.29

25 MBC00001 #4-40NC Mach Scr Nyl Lck Nut 24.0 EA 0.34

26 MBF00001 #4 TY 'a' Wide FL Wshr Stl PL 24.0 EA 1.23

27 8163120 Large McElroy Branding Label 2.0 EA 5.96

28 MLQ00080 30 Amp Time-delay Fuse 2.0 EA 60.24

29 MLR00033 Spare Fuse Holder 1.0 EA 27.52

30 8163178 Hydraulic Connection Label (Effective 6/15/10
to 7/28/10)

1.0 EA 0.00

30 8163186 Dynamc Auto Hpu Conn Label 1.0 EA 0.00

31 8163179 Electrical Connection Label (Effective 6/15/10
to 7/28/10)

1.0 EA 0.00

32 MGF00082 .39" Ball Stud Short Bracket 1.0 EA 0.00

33 MGF00081 .39 Ball Stud Tall Bracket 1.0 EA 0.00

34 MGA00042 Gas Spring 1.0 EA 73.57

35 MBC00024 #10-32NF Hex Nyl Lcknut Stl PL 4.0 EA 0.10

36 MJJ00048 Large Black Recessed Handle 2.0 EA 0.00

37 MCK00081 3/16DIAX1/4GRIP AL Blind Rivet 32.0 EA 0.00

38 1264601 Dynamc Hpu Accumulator Brkt 1.0 EA 0.00

39 MER00002 Accumulator Mounting Bracket 1.0 EA 102.00

40 1277801 Dynamc Hpu Fan Brkt 1.0 EA 0.00

41 1277901 Dynamc Hpu Axial Fan Mod 1.0 EA 328.00

42 MCK00003 3/16DIAX3/8GRIP Blind Rivet 3.0 EA 0.44

43 MBF00002 #6 TY 'a' Wide FL Wshr Stl PL 4.0 EA 0.10

44 MBE00002 #6 Reg Splt Lck Washer Stl PL 4.0 EA 0.11

45 MAN00028 #6-32NCX5/8LG Bhscs SS 4.0 EA 0.61

46 1264501 Contact McElroy Tech Support (Effective
9/9/11 to 10/28/15)

2.0 EA 0.00

46 1264502 Dynamc Hpu Coil Power Y-cable 2.0 EA 0.00

47 MKH00109 9-64VDC Hour Meter 1.0 EA 84.00

https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1264901


May 3, 2024 3:16:41 AM CDT                              - 7 -                              

Click Here to View Item Online

McElroy Manufacturing Parts List
Part Number:  1264901  DynaMc Automatic 110-120V, 50/60Hz, 1Ph HPU Assembly

48 1277701 Dynamc Hpu Y-cable Assy 1.0 EA 0.00

Please visit https://fusion.mcelroy.com/parts to purchase parts or for more information.

https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1264901
https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1264901

